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MR 1,386 2,837 1,311 1,526
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FRET 1,847 4,005 1,945 2,060
AE 780 1,782 875 907
itz 1,811 3,857 1,849 2,008
Fazsdt 2,227 5,263 2,647 2,616
T EEET 2,911 7,199 3,472 3,727
i 632 1,417 709 708
TERET1T 900 1,811 903 908
TERET2T 849 1,842 895 947
TERET3T 942 2,289 1,112 1,177
TERET4T 543 1,236 601 635
TERETST 657 1,568 807 761
3,891 8,746 4318 4,428
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J\BTET2T 1,231 2,237 1,043 1,194
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1,767 3,290 1,582 1,708
J\EB R ZHT 422 726 355 371
®/\H 595 1,256 600 656
B 2,412 5,524 2,719 2,805
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IR AT 1,810 3,327 1,556 1,771
I EKET 2,796 5,564 2,708 2,856
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R LT 1,192 2,903 1,433 1,470
PRI RHET 1,240 2,772 1,352 1,420
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RBR 4 5 3 2
ER1T 559 1,222 570 652
ER2T 498 1,105 538 567
ER3T 291 638 300 338
ER4AT 513 1,146 586 560
ERST 262 534 258 276
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2,584 5,596 2,726 2,870
1=H 5602 12,567 6,018 6,549
KE 682 1,404 669 735
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RE 341 700 330 370
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